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HmdAEy 2—7) — A () a—Uih 4 1,800.00
2|ARL 19573 AL =251 5 (BR) kg 340.00
3[FHLE ALIE = 2575 5 (BR) & 3.00
4oL AL =25 S (BF) ke 1,400.00
5| i e ALIE =55 7 5 (BR) kg 850.00
6]H0L AL =25 5 (BF) ke 100.00
7ILHLE (BE) il kg 418.00
g|lE—~ AL =25 5 (BR) ke 585.00
9|72\ B (Bk) 7oz Kig/KE kg 1,850.00

10[Y=—L &= AL =25 5 (BF) ke 286.00
11204 ALIE =55 7 5 (BR) kg 1,640.00
12 ZIENCA LA AL =25 5 (BF) ke 298.00
13[BRAfi A~ () a—UR 5, kg 650.00
14| B E 78 H AR & (BR) ] 28.00
15| K e — A () 7Ly a3i—Rbl7e~ kg 910.00
16[IFHNAEL AL =25 5 (BF) ke 568.00
17( A& (FR) Hiljigk kg 108.00
18[125 AL =25 5 (BF) ke 780.00
19|73t FLIR =55 7 28 (BF) ke 1,100.00
20{LL &S EF- AL =25 5 (BF) ke 965.00
21| FI3% FLIE = 555 5 (BR) kg 90.00
22|F X AL =25 5 (BF) ke 80.00
23| I FLIE = 275 5 (BR) ke 172.00
24| AR AL =25 5 (BF) ke 277.00
25[0° 5 FLIR = 7 5 (BK) kg 270.00
26| KAR AL =25 5 (BF) ke 70.00
21| 7T 4o (FR) Hiljigk kg 1,298.00
28|Z1F9 (k) Mk ke 142.00
29| RA (FR) Hiljigk kg 438.00
30| B4 AL =25 5 (BF) ke 63.00
311z Az (FR) Hiljigk kg 3,150.00
32| H I AL =2 5 (BF) ke 445.00
33+ FLIR = 561 5 () kg 530.00
34[h~h AL =2 5 (BF) ke 420.00
35[3=h~Fh FLIR =561 5 (%) kg 690.00
36[/ M AL =25 5 (BF) ke 420.00
37| B FLIR =565 5 () kg 900.00
38| AEMEE AL = 2 5 (BF) ke 820.00
39|z DEF (FR) Hiljigk kg 378.00
4010 AT ALIE =55 7 5 (BR) ke 310.00
AL TH LY FLIR =55 R (BF) kg 265.00
42|t ALIE =55 7 5 (BR) ke 220.00
431237 FLIR = S 75 5 () kg 172.00
44T AT ) — (BE) il ke 538.00
45|4EHH A ()7L vy a3I—Rbl-7e~ kg 1,600.00
46| IKHH A () 7Ly a3—hbiz/p~ kg 600.00
47|17 I P () 7Ly a3—Rbl-7e~ kg 1,280.00
48| —a o B —h (BR) ke 1,380.00
4917V ST R AT R | E 40.00
50|31E7 (L —B () IR \& kg 1,000.00
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51| FSAHA () IR\ & 5 230.00
52|17 B (BR) 7> vaa KiGKE ke 1,980.00
53|l Tex fy (Bk) 7 vz KgAK E N 700.00
54|75 AL =25 S (BF) ke 1,080.00
55| RF FLIRE =275 3 (%) kg 280.00
56|13 H 2D () a—Uk ZN 430.00
57| BER D=4 PP (BR) N 880.00
58| YL TAADFE (BR) & L& ke 570.00
H9|1ZEHEEA H A S £ dn (BF) A 730.00
60|~ —R—HEDHE H AR & (BR) ZN 980.00
61|75 DV () a—UR S 375.00
62| BT — A D () a—URk ke 530.00
63l 2 DI () a—UR 5, ZN 330.00
64|87 —X H AR SR () %N 300.00
65| HE LR (FR) Hiljigk kg 405.00
66|/ U BEIN H AR B (BR) 0w 470.00
67| /A ANFNRRL T H AR S A in (K A 470.00
68| KL L i B0 A ()7L v a3—RMplre~ ke 598.00
69|HHNE YA ) — b B3 —h (BR) kg 800.00
70|F 7 YA LR =55 3 () ke 290.00
TL{HEES H AR S A& in (K & 22.00
I ESeays AL =25 5 (BF) ke 130.00
73 A A KE FLIR =55 7 28 (BF) ke 270.00
T4|FIVRENE B ooy /s WA R (BR) A 50.00
R e A H AR S A& in (K & 12.00
6| A=A T — H A2 £ 0h (BR) 4% 450.00
T EfETeE 2O () IR\ & kg 5,500.00
78| B H AR R (BR) 4% 450.00
79[V % FLIR =508 5 (B ke 390.00
80| e — 7 Lk YTy R R A T EE | 81.00
81| R 23/ 37— () a—UR 1% 600.00
82|LFHB (Bk) 7z KiG/KPE ke 2,780.00
83| EH L (FR) Hiljigk kg 319.00
84|4HHiE IV A ()7L v a3—RMpolre~ ke 1,600.00
85|Z1EH VT HARE & (BR) kg 620.00
86| K b A AR L o S —h (BR) ke 980.00
87 R —~ FLIR =255 5 (BR) kg 680.00
88| XL A Z AT < (k) Mk ke 315.00
89| e E X I2FWD (BR) & L& 4 178.00
90|fit71L—2 ALIE =55 7 5 (BR) & 275.00
914V —7"iih (BR) & L& hh N 860.00
R\ BARLAS S T A —F () a—Uf & 540.00
93| Xy FaRL o s H AR S in () ZN 580.00
94| R [ 1 H AR B dh (BR) % 600.00
95|15 DAE (BK) B FH P kg 80.00
96| 4x A E. () a—Uf 4 230.00
97| 1L 3K A (k) ik i 608.00
98| K HIKE: ALIE =55 7 5 (BR) % 305.00
9| F ()2 —Uf b, G 880.00
10035 —~> AL = 275 5 (BF) ke 680.00
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101 [k ALIE =55 7 5 (BR) kg 470.00
102[Z B (BR) 7> vaa KiGKE kg 1,100.00
103|7ME B oY T4 H AR S £ dn (BF) 4% 660.00
1048~ A% —FK () a—Uk A 360.00
105 | iy o — A EIV A ()7L vy a3i—RMbl7e~ kg 910.00
1067V ST EERFEME TR | E 40.00
107 [ AR E R — 2T 4 A H A SR £ dn (BF) 4= 950.00
10845 £ 41 AL =25 5 (BR) ke 110.00
109[)—71L &% ALIE =55 7 5 (BR) kg 290.00
110 2F0F# H AR & (BR) %N 200.00
LR LS ERbLA (¥k)—hmiH ke 995.00
112|@B N IT—barasyr (OK) AR (BR) A 125.00
1137 ——aay i (V) WAL (BR) A 58.00
114U E A () R\ & ke 1,850.00
L5 | HCHO T AT F—h H AR S £ in (K N 480.00
116[7=vC (Bk) 7>z KiG/KPE kg 1,930.00
117|F/VRI—haay/r WA B h (BF) 1l 44.00
L8| G L) FEWD H A SRR & (1) N 405.00
19| LY T e n S0 T L — A L | B AR RN (BR) N 450.00
120[F VRV INBET T A N—T AR (BF) A 100.00
1212 — LR RF A7 — ISFLFEF L kg

122| - FLIER DR () = L& 18 855.00
123| O EH Y — (B —F) (B & S 325.00
124K — AN ¥ 7 ¥ 7 (B) 7L vy a3—hbizia~ ke 978.00
125|) fakiEC () IR\ & kg 1,250.00
126(%,9°< (BR) 7 rma KigKE kg 780.00
27N LICAIK Ly s HARE RS (BR) N 540.00
128| R F 7V D FE H AR R (BR) 18 990.00
129 fede A= L (FR) Hiljigk kg 382.00
1304 L 7 7)) — 25 H AR & (B 18 580.00
131|585 R A AT —% by B —k (BR) e 45.00
132| FLZ e —F =KLy vy (BF) & L hh ZN 700.00
133[7 1 —F = (R 7 ANRY—) (BR) & L& S 605.00
134 | HEFER DT- 1 () a—Ui ZN 660.00
135[RERIEHBRR L > T (BR) & L& %N 480.00
136 %5 i B JEBETN H AR R (BR) N 480.00
37| A HED (BR) 7V v aa KgAK e 0 1,100.00
138|wURRLwy H AR A (BR) %N 550.00
139w~ —7Y HARE &S (BR) 4 620.00
140 | Wy BRBA & K F H AR B dh (BR) 4% 720.00
41| FHRbbRNAT—%H b B —k (B) 1 75.00
142| ) A ANARF-D>DOBRL v T () = L& ZN 700.00
143[[RE2TF XL T4 ADFHE P (BR) o 1,300.00
144| DRSS FEHT () a—Uf ke 664.00
145|330 7 OF (Aha ) —) H AR S hn () 48 700.00
146 | BEX H DX AR 1 H AR £ (BR) 4% 180.00
147|165 FIKE FLIR = S 75 5 () kg 350.00
148[r~r2—7 D5 () = L& 18 1,250.00
149|5 BRRA 7 i A7) — I (BF) & L& hh i 223.00
150| A= Ha kit () a—UR 4 340.00
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151|FaaL —ry—2 (B)=—URM ZN 600.00
152| U3, AL =251 5 (BR) kg 230.00
153[xA—271 ALIE =55 7 5 (BR) kg 225.00
154|7 maR) NE)) B () a—Uk e 155.00
155 | EL E oV KIS EEFITEA () =—U R K 180.00
156> A7 () a—Uk A 168.00
157|m—2 2T A o B —h (BR) kg 1,580.00
158 dbiFE AL TV I EERFEME TR | E 40.00
1594 )M AN K BEFE H A S £ dn (BF) = 390.00
160/ OV —I—RL vy 7 (BR) & L& ZN 800.00
161[6E5L9 Lo (BR) & L& dh S 1,298.00
162|421 19kt () a—URk 03 380.00
163| I TEI0 D5 (BR) & L& dh S 280.00
164| B4 CTA S () a—Uk %3 90.00
165[x>F g FLIE =55 5 5 (BK) ke 260.00
166| 7)) —2 T AT H A AL =25 5 (BF) ke 1,200.00
167|LALDL FLIR =56 & () ke 850.00
168|F~Fa—L —1F () a—Uk A 180.00
169|LF 2 5yt (F)a—Ufa %N 240.00
170| AT HATA AT — K (— ) B L LR 260 e 40.00
171|BE T L — R —— = () a—UR S 433.00
172|CFIF- T E ST () a—Ui e 84.00
173| &G H AR S A in (K ke 92.00
174l —7> H AR B (BR) kg 710.00
175/ N — H A SR £ dn (F) & 20.00
176|728 H 59 40k () a—Ui N 19.00
177|720 O g — A— (BR) B oA FLIR = T 1l 105.00
178|722 BB 32 A U A A—T (BR) T4 FLIR = EPT A 105.00
179 A HARE &S (BR) kg 600.00
180|LoH0 ARk B — () a—Ui A 168.00
181 O NI LR DEDE (BR) T4 kLR = 3T 1l 105.00
182|0bbZ T A (BR) B A FLIR = EPT A 105.00
183|737 Zid A () a—UR & 180.00
184| T IVY F— R p— A — (BR) e A kLR = T 1 115.00
185 B L2 (BR) B oA FLIR = T & 105.00
186|fiE LB DN ET-F (BR) T4 FLIR = EPT A 125.00
187| BB RO T =2— (BR) T4 kLR = 3T 1&l 125.00
188] 9 & hEx (KR) =4 kLR = 3T 1l 125.00
189[4FEL A o B —h (BR) kg 8,500.00
190 | A1 LIS B 2R} (F)a—UR N %N 368.00
191| K Z3—k ()2 —Ua A 185.00
192872 > () a—Uf ZN 285.00
193] S &7 A ZIZ A (BR) B A FLg = 3T 1l 176.00




